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—HE(WAZ) —H" FHDIE) —HE (FHHD)
O sgddivl 71384 #%
=5 gdgt 19734 0
24 (F=) 20106 B(@) | (o7 B ) a-b s mfw
g7|2(7C) 10.8 1.5 -0.7 A 29
HAXD7|2(C) 16.1 17.5 -1.4 =X 19
g X7|2(C) 5.7 5.8 -0.1 -
2= (mm) 325.2 260.7 64.5(124.7%) -
U E=AZH(hr) 508.7 662.3 153.6(76.8%) ZA 14
O |4did 71384 g
of = |2 s AN PAgal s U= AIZE
- (c) 7l2(C) 7l2(¢c) (mm) (hr)
1973-19804(a) 11.3 17.2 5.7 301.8 659.6
1981-1990 (b) 11.5 17.6 5.9 232.9 646.4
1991-2000(c) 11.7 17.8 6.0 254.4 623.5
2001-2010(d) 12.1 18.1 6.4 267.2 601.8
d-a 0.8 0.9 0.7 -34.6 -57.8
d-b 0.6 0.5 0.5 34.3 -44.6
d-c 0.4 0.3 0.4 12.8 -21.7
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g@H7/2(7C) 10.7 11.2 -0.5 Zx 59
g4 =107|12(C) 16.4 17.6 -1.2 2x 19
g =X7|2(C) 5.3 5.5 -0.2 -
5= (mm) 256.7 231.9 24.8(110.7%) -
LEAIZH 522.3 674.5 -152.2(77.4%) Zx 19
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of = garle = S = RRE Py A5 UAZAIZH
- (c) 7l2(c) 7l2(c) (mm) (hr)
1973-19801(a) 10.9 17.2 5.2 271.9 690.2
1981-19904 (b) 11.3 17.8 5.7 220.5 689.2
1991-20004 (c) 11.3 17.9 5.5 207.4 641.1
2001-20104(d) 11.8 18.3 5.9 232.2 641.8
d-a 0.9 1.2 0.7 -39.7 -48.4
d-b 0.5 0.6 0.2 11.8 —47.4
d-c 0.5 0.5 0.4 24.8 0.7
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(HF) 2010 (a) (1971-2000)(b) a-b =2/ (591 7ix|gh
HA7|2(C) 11.6 121 -0.5 -
HA = 1D7|2(C) 171 18.5 -1.4 ZxA 14
H3 =X7|2(C) 6.2 6.6 -0.4 -
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(c) 7l2(C) 7|2(C) (mm) (hr)
1973-1980H (a) 11.9 18.2 6.4 258.6 653.7
1981-19904 (b) 12.1 18.5 6.6 234.4 626.1
1991-20004 (c) 12.4 18.7 6.8 214.8 626.7
2001-2010H (d) 12.8 19.2 7.0 220.1 593.7
d-a 0.9 1.0 0.6 -38.6 -59.9
d-b 0.7 0.7 0.5 -14.4 -32.4
d-c 0.4 0.5 0.2 5.3 -32.9
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Ho7|2(7C) 17.0 16.9 0.1 -
B z17|2(C) 22.9 22.9 0.0 -
Ha zM7|2(C) 1.5 1.2 0.3 -
Z=2Hmm) 124.0 104.1 19.9(119.1%) -
2l = Al ZHhr) 207.0 231.0 -24.0(89.6%) -

of = garle Yoz =RLE Py g5 UZA|ZE

- (c) Zle(c) 7|2(7C) (mm) (hr)
1973-1980H (a) 16.7 22.7 10.8 111.1 241.8
1981-19904 (b) 17.1 23.2 1.4 93.3 230.5
1991-20004 (c) 16.9 22.9 11.2 108.8 222.8
2001-2010E (d) 17.4 23.4 12.0 119.1 208.1

d-a 0.7 0.7 1.2 8.0 -33.7

d-b 0.3 0.2 0.6 25.8 -22.4

d-c 0.5 0.5 0.8 10.3 -14.7
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ENCSE H B e -
(H=) 2010 (a) (1971-2000)(b) a-b =2| (591 7Ix|gh
Ho7|2(C) 17.0 16.8 0.2 -
B z17|2(C) 23.3 23.2 0.1 -
H3 =X7|2(C) 11.3 11.0 0.3 -
2= (mm) 102.5 89.8 12.7 -
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= (c) 712(C) 712(C) (mm) (hr)
1973-1980H (a) 16.4 22.8 10.4 95.3 256.7
1981-19904A (b) 17.2 23.5 11.5 90.5 249.2
1991-20004 (c) 16.8 23.2 11.0 83.0 226.1
2001-2010 (d) 17.5 24.0 11.8 102.6 224.8
d-a 1.1 1.1 1.4 7.3 -31.9
d-b 0.3 0.4 0.4 121 -24 .4
d-c 0.7 0.7 0.9 19.6 -1.3




[X

A5 6]

89| 5 JIEIl=

O B271L, ¥a HiUL, BT HA7], 27 (1973-2010'3)

HMFEX| 4 58l 7| £ 5 M (1973~2010)
250 30
200 FWAWM?“W'W‘“T'A?!‘VH"A' %
£ I _ 120
g 180 = - (&)
=0 115 o
5 =N FA‘gl_?hﬂﬂq %
F 100 S Llo N
N0 i 10
) | H H HH ] 5
O L L 11 L L L L \|-|\ L L L L \|-|\ L L O
1973 1976 1979 1982 1985 1988 1991 1994 1997 2000 2003 2006 2009
—A = ga|e —m—gg Fno|2
—A— " x| ME (HR7|2) ME (" 2 17|2)
ME (" 2x7|2) M8 (25
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5 @dgh 19734 o[ %
QA(HF d & o) -
(HF) 2010 @ | (1971-2000)(b) a~b 22(59 7HX|9H
HAa7|2(C) 18.0 17.8 0.2 -
Hoa z317|2(TC) 24 .4 24 1 0.3 -
H % X7|2(0C) 12.2 12.1 0.1 -
25 (mm) 88.0 93.8 -5.8(93.8%) -
Q= A|ZE 209.2 225.9 -16.7(92.6%) -
O ddd 71484 %
of = Ha7|2 HAxo HAE A PAR=s U= A|ZH
(c) 7l2(C) 7|2(C) (mm) (hr)
1973-19804H (a) 17.4 23.8 11.8 94.9 238.8
1981-19904 (b) 18.0 24 4 12.4 97.4 225.0
1991-20004 (c) 17.9 24.2 12.2 84.8 222.0
2001-2010=(d) 18.6 25.0 12.8 921 206.7
d-a 1.1 1.2 1.1 -2.8 -32.0
d-b . 0.6 . -5.3 -18.3
d-c 0.6 0.7 0.6 7.3 -15.3
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